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Even though he did not  — 5577 nR 195¥ 1993531 7990 1901 85w 55 5y ON
place the beam over the wall, we extend his liability for everything

OVERVIEW

The X723 in "2 queries? what is the 17 in a case where a person lives in another’s
courtyard unbeknownst to the owner; is he liable to pay rent or not. The X n3 refers
to this as 7171 71 — the squatter is deriving a benefit (for otherwise he would have to
pay rent elsewhere) q0m X% 11 — and the owner is not suffering a loss (for he has no
intention of renting out this vacant courtyard). The consensus of opinions in the
X3 is that 1"9137 is Mo, The case in our 71wn seems to be a classic case of 1"Mar;
the neighbor is deriving a benefit from the raised wall (above nnKk '7); that the
other built, without causing any loss to the benefactor. nwoin offers two
distinctions between our 71w and the rule that 7"%1ar is Mws.

mooIn anticipates the following difficulty:
— 99 90N KXY NN NINI N7 2) HY 9N

Even though that where one derives a benefit from another (7723772), however the
benefactor does not suffer a loss (7om X); the rule is that the beneficiary is

exempt from paying the benefactor. Seemingly, here too, the benefactor who raised the wall
above nX "7 (for his own benefit) is not suffering any loss from the fact that the beneficiary is
intending® to place a beam on his wall. Why then should the beneficiary be obligated to pay the
benefactor?!

mooIN responds:
— 2950 “NNANNA DY RNIT AINYT 9T 113 0PI Yan

Nevertheless since the beneficiary expressed his view, by building an adjacent
wall that he is pleased with the raising of the common wall above nmnR '3,

! The "7 n77an amends this to read 7 png AR 19y 01

2R,097.

3 It would seem from N0 heading ‘77PN NX 17V 101 Xow 3"vX' that the question is why the beneficiary has to pay
when he is only intending to use the wall. However once he placed his beam on the common wall, it is understood
that he has to pay. It is not a case of n">nir anymore. The weight of the additional beam on the common wall is
considered a loss to the benefactor. It will hasten the deterioration of the wall. The 1>7 is that even if the 01 is
minimal, the 7371 must pay for his entire X377, not just for the 7on. See mwna Hv X"y 'oin. See “Thinking it over’ # 4.
4 See Xnvv 1"7 2,5 747 P"2 MOOIN where MOON states that XX 77 XM3; i.e. he is pleased to the extent that he is
willing to spend additional monies of his own in order to derive the benefit. This would distinguish this case from
M@ R5W 172an 1xna 770, There, even though the squatter is obviously n¥7 7731 that he is pleased, nevertheless there
was no outlay of his own monies. In our case however (as well as by Ap>1 7°pn) the nyT M12°) was accompanied by an
outlay of money. It is in this case (only) that he is 2.
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therefore he is obligated to pay.
— MV G710 NN 9P SRNAYO VNPT (0w 2,5 97 xmp x33) S9N T893 99) ¥YHIUN 19

And indeed this is also implied in 377 7%9> P9 that n"oMar is MWD only when
there is no N¥7 "17°) on the part of the 7171 that he is pleased with the action of the
benefactor. NMdOIN continues with quoting the X7 mx: for the X713 says; the reason
the »°1 1s 2711 1s because the P2 fenced the fourth wall however if the n°p» built

the fourth wall (as well as the other three walls) the 77> would be 91wD; even though

the np1 is deriving a benefit from the 7°pn -
— 79509 90N XY N1 N3N NT NN ¥yNY

We can derive from this ruling that where one derives a benefit, however the

benefactor suffers no loss, the beneficiary is 918. This concludes the quote from the
X3,

mooIn concludes his proof:
— %9 N9 19 52990 9P MYV Y91 1929N)

And nevertheless when the 71 arose and built the fourth wall he is obligated to
pay (his share in the previous three walls)! m»oin concludes: This is how it

appears to me. That by 1"on1r if there is no ny7 M%°) that he is pleased then he is "w3;
however if there is a n¥7 "12°3 that he is 7°% X3, then he is 27m.

Mmoo offers an alternate answer:
— TN 7119 NYYNRY YN 122NV 1Y BINY NID 90N AT XN M) ON

Or you may also say; here the benefactor is suffering a loss on account of the
beneficiary for it is the beneficiary that caused him to raise the wall higher than

four NMNX in the first place -
13199 PPIY DIVA DI PN 1Y 191> XOW 219

In order that he, the benefactor, should not have any X7 P from the

> The X3 there in 93771 7% attempted to resolve the issue whether n"91ar is 20 or Mwo. The X M3 cites our

(previous) m1wn on 1,7 77 concerning a Ap°1M 7°Pn. The opinion of *01° " is that (only) if the 7°1 built the fourth wall

D7 DR YOV R0,

¢ The n"27 NaT amends this to AP 73T XAYL.

7 The X713 there ultimately rejects this proof. MaoIn however is deriving his interpretation from the 7"0 of the X 2a.

$ Seemingly even when the 71 built the fourth wall, it should still be considered 70m X2 A1 7373 71! Why is there a

difference who built the fourth wall?! This indicates that the rule of 1"917 is 75 only when the 7373 did not express

his satisfaction with his benefit. However, when the 7371 expresses his satisfaction, even though the benefactor is X?

701, nevertheless the 7171 is 271. This explains the difference in the cases of 7P 11 7°pn as well as our 71wn. When the

7°Pn built all four walls, even though the 7p°1 is 7371 he is still 7wy, for he did not express his satisfaction in any

manner. However if the 71 built the fourth wall, or in our 71w»n where he built an adjacent wall, in these cases the

731 is 21 for he is doing an action which expresses his satisfaction from the 7X37 he is deriving from his benefactor.
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beneficiary in any manner at all. The reason the benefactor raised his wall more than four
nMn, was to protect himself from the beneficiary. The beneficiary should not be able to see him
even if he stands on a high place and can look above a wall of (only) nX '7. Therefore since the
benefactor had a loss on account of the beneficiary, it is no longer a case of n">mir;’ the
beneficiary has to pay his share.

SUMMARY

NOn K2 AN 7M1 is Mwd only if there is no N¥717°) on behalf of the beneficiary;
however if the beneficiary is ny7 7931 that he is pleased with the 7R3, he is 2°1. In
our mwn the 7171 is 7% X1°17 NY7 773 through building an adjacent wall.
Alternately our 7Iwn is considered a 70m because the 717n raised the wall on
account of the 77371, that the 7371 should not cause him any X1 .

THINKING IT OVER
1. Why is there a difference whether the 77371 is ny7 7931 that he is 7°% X1 or not?!?

2. What are the practical differences between the two 2°¥17°n in npon?!!

3. How much is the 71171 required to pay in our m1wn; for his AX37 from the wall or
for the entire (half of the) wall?!?

4. Why is he considered a 71373, if all he did was to build an adjacent wall!?!3

® See 0" who explains that 701 177 is not limited to a case where the benefactor loses on account of the 1x37 of the
7171, but even if the benefactor incurred the loss (from the beneficiary) not in conjunction with the beneficiary’s nR37
(as in our case), it is still considered 20m 1. See *p MX >"22.
10 See P>y 73m1 772 LR DX "0a.
'See 1"x 71"72 "M
12 See 0% 71"72 vP MR "9,
13 See footnote # 3. 1,12 0 7"202 V.
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